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QUESTION 1

‘ Drag and arrange the steps on the left in the correct order on the right that indicates how DPC+ SSN based routing in SGSN is performed on the Cisco ASR 5000,

S57 routing domain from the SCCP networs is picked and point code in the S57 RD is First
available
SCCP network inthe map-senice Second
SSN service state is in-sewvice inthe SCCP retwork Trird
CPCin the SCCP network is accessiblz Foarth

Select and Place:

Drag and arrange the steps on the left in the correct order on the right that indicates how DPC+ SSN based routing in SGSMN is performed on the Cisco ASR 5000,

SS57 routing domain from the SCCP networs is picked and point code in the 857 D is Firat
available
SCCP network inthe map-senice Second
88N service state is in-sewice in the SCCP retwork Trird
CPCin the SCCP network is accessiblz Foarth

Correct Answer:

Drag and arrange the steps on the left in the correct order on the right that indicates how DPC+ SSN based routing in SGSM is performed on the Cisco ASR 5000,

SCCP network in the map senvice

557 routing domain from the SCCP network is picked and point code in the SSTRD s
avaiable

DFCinthe SCCP network is accessible

S5M senvice state is in-service in the SCCP network

QUESTION 2

In which two ways does SGSN detect and know when GGSN has restarted? (Choose two.)
A. change in recovery value in echo response

B. change in recovery value in PDU notification request from GGSN to SGSN
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C. change in recovery value in Update PDP Context Request from GGSN to SGSN
D. when the sequence number in a response message is different from that of the request message
E. when the TEID value in response in GTP header is different from that of the request message

Correct Answer: AC

QUESTION 3

Which failure code is sent in the authentication reject message when a UE with USIM fails to receive the AUTN as part
of the authentication and ciphering request from the SGSN?

A. GSM authentication unacceptable
B. MAC failure

C. SYNC failure

D. RAND failure

E. UMTS authentication unacceptable

Correct Answer: A

QUESTION 4

Refer to the exhibit.

charging—-action cg-—1
content—-id 100
cca charging—-credit

ruledef icmp-any
icmp any-match = true

rulebase rulebase-1
action priority 100 ruledef icmp-any charging-action cg-1

ceredit-control group test
diameter endpoint gy-1
diameter send-ccri traffic—atart

Which three Diameter AVPs are sent within the CCR-I request to the OCS? (Choose three.)

A. Session-ID
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B. Used-Service-Unit

C. Request-Service-Unit

D. 3GPP-Quota-Consumption-Time
E. Subscription-ID

F. Event-Trigger

Correct Answer: ACE

QUESTION 5

Which option describes the advantage of using L2TP over IPsec versus IPsec only?
A. L2TP improves performance.

B. The overhead that is introduced is lower.

C. L2TP can transport protocols other than IP.

D. L2TP provides Layer 2 VPN functionality.

Correct Answer: C
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